2011 2011.10.22



-
“‘

1.6

1.4

600¢
800¢
£00¢
900¢
G00¢
00¢
€00¢
¢00¢
100¢
000¢
6661
8661
1661
9661
G661
7667
€661
¢661
1661
0667
6861

—



1994 6

1995 H7 1996

1997 H9

2001 H13






1762

1990

FSA

33

5,000

2009

—

200

15

4.1



1843

1900

1891

1906

1906

2 411

23

- 1906

10

94



1840

1980 1,758 137 7.8% 1,895
1990 2,078 117 5.6% 2,195
2000 1,160 99 8.5% 1,259
2006 827 127 15.4% 954
2007 763 138 18.1% 901
2008 136 137 18.6% 873
2009 709 136 19.2% 845
ACLI Industry Facts




Fortune Global 500

2006 2007 | 2008 | 2009 | 2010 2011
1 1
2 2
3 3
4 4
5 AXA) 5
6 6
7 — TIAA-CREF 7
8 8
9 9
0 |10
11 11
12 12
13 13
14 14
15 L8G 15
16 — — — — 16
17 — — — — — — 17
375% | 375 | 294% | 300% | 375% | 30.0%
10 3 4 5 5 6 5

Fortune Fortune Global 500
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3 (2002) Comprehensive Life Insurance Industry Review

WilliamH.Greene(2004)  Profitability and Efficiency in the U.S. Life
Insurance Industry
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Datuk Syed Othman Alhabshi(2011) Organization Form and
Efficiency: C Coexistence of Family Takaful and Life Insurance in
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0.296003 9.03894| 0.032748| 0.120379 9.47107 0.01271
0.87501 19.2974| 0.045343| 0.891104 81.7586 0.010899
-1.1418| -3.59305 0.31778 2.94412 22.022 0.13369
o 0.674166 28.9596 0.02328 1.16949 45.977 0.025436
A 1.39369 9.33704| 0.149264 1.26459 12.979 0.097433
585 -987.3 785,-790.089
-1.77334 -0.356657
( (
0.310014 8.81491| 0.035169| 0.381217 11.0494 0.035406
0.831344 16.9863| 0.048942 0.6552 17.7776 0.036855
-0.81136| -2.44576| 0.331739| 0.582574 2.29257 0.254114
o 0.65677 31.8487| 0.020622| 0.635511 30.6028 0.020766
A 143321 9.66867]| 0.148233 1.42492 9.29182 0.15352
564 -875.3 557 -883.7
-1.98740 -2.031938
1 1989 2009

N

Log likelihood
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y=0.0664In(x) +0.236
R2=0.3585
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H-1

0.343717 12.3877( 0.027747( 0.084207 3.70462 0.02273
0.625521| 41.1206| 0.015212| 1.03447 61.091 0.016933
4.02026( 15.6756( 0.256466( 0.906005 4.9849 0.18175
0.842463| 32.0805| 0.026261| 1.18909 43.0381 0.027629
15163 8.65265| 0.175241| 1.63377 13.6123 0.120022
-1.28996 -1.45493
531 -682.380 542,-498.410
+
0.183385| 15.2083| 0.012058| 0.398707 7.21961 0.055226
0.816948| 79.8155| 0.010235| 0.424839 14976 0.028368
1.32515( 9.63394( 0.13755( 4.21485 8.17124 0.515816
0.92025( 67.4978( 0.013634| 0.435247 24,7124 0.017613
3.78113 10.536] 0.358878| 3.03011 5.74398 0.527529
-0.28032 -0.23213
480 -469.398 398,-722.660
1 1999 2008 Log likelihood
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y=0.0463In(x)+0.0174
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